" INSIGHTSIAS
.
Mock Test 29 ( CSAT Unit Test b)

o Your Answer :
o Correct Answer : B

o Answer Justification :

In 1996, Average profit of A and B is same.

32 What is the difference between the average profit of B and A in the year 1998?

A. -100

B. -1,000
C. +600 @
D. -300

o Your Answer :
o Correct Answer : C

o Answer Justification :

In 1998, Average Profit of A=3400 and Average Profit of B = 4000.

Difference = 4000-3600= 600.

33 How much more average profit did A make in the year 2000 than in the year 1999?

A. 200

B. 1,000

C. 1,500

D. 2,000 @

o Your Answer :
o Correct Answer : D

o Answer Justification :
In 2000, Average profit of A= Rs.6000.
In 1999, Average profit of A= Rs.4000.

Difference = Rs.2000.

34 What is the trend of the average profit of B from the year 1997 to the year 20007

A. Non-increasing
B. Non-decreasing &
C. Steady

www.insightsactivelearn.com 18

© Insights Active Learning | All rights reserved - 59320. You may not reproduce, distribute or exploit the contents in any form without
written permission by copyright owner. Copyright infringers may face civil and criminal liability




